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QUESTION 1

An organization has a 3-node cluster, with utilization rates as follows:

35% CPU 40% RAM 20% SSD 35% HDD A node in this cluster fails.

Which type of degradation will the client experience due to this node failure?

A. The entire cluster will be down until the node is repaired.

B. All VMs from that node will be offline until the node is repaired.

C. VMs from the failed node will be offline until they restart on the remaining nodes.
D. The cluster will be online but will experience performance issues due to utilization.

Correct Answer: C

QUESTION 2

In which two scenarios is Native Key Management Server supported? (Choose two)
A. XenServer and AHV mixed cluster.

B. Hyper-V and AHV mixed cluster.

C. KVM and AHV mixed cluster.

D. ESXi and AHV mixed cluster.

Correct Answer: BD

QUESTION 3

Which two factors should be considered when planning to migrate VMs to AHV? (Choose two.)
A. Guest Operating System

B. Active Directory Domain

C. Downtime Requirements

D. iSCSI MPIO Version

Correct Answer: CD
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QUESTION 4

An administrator needs to power down an AHV node in order to replace a failed DIMM.
Which step should the administrator take after placing the node into maintenance mode?
A. Execute the command cluster status

B. Power of the node

C. Shut Down the nutanix CVM

D. Reboot the Nutanix CVM

Correct Answer: C

QUESTION 5
An administrator wants to use Volumes to connect to physical servers that are not able to be virtualized.

Which three things must be configured for Volumes to support iSCSI clients? (Choose three) A. Enable external client
access

B. Client OS iSCSI initiator
C. iSCSI Multipathing I/0

D. Cluster Virtual IP address
E. Data Services IP address
Correct Answer: BDE

Explanation: https://portal.nutanix.com/page/documents/details/?targetld=Web-Console- Guide-Prism-v51:wc-block-
services-c.html
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